









1





Ficheiro de Operações


Adições com decimais























Copia para o teu caderno. Resolve as operações.








        2,8 + 0,8 =                    3,5 + 0,5 =                 1,6 + 0,9 =


























        1,7 + 0,8 =                    1,9 + 0,4 =                 0,6 + 1,4 =


























        4,6 + 0,8 =                    4,8 + 0,9 =                 0,6 + 1,7 =








2





Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.








         2,7 +  8 =                    2,5 + 5 =                 2,6 + 9 =


























        5,7 + 7 =                    5,9 + 4 =                 3,6 + 4 =


























        6,6 + 8 =                    3,8 + 9 =                 6 + 6,7 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.











         2,7 +  3 + 0,8 =       2,6 + 3 + 2,5 =         3,7 + 3 + 2,9 =























        6,7 +  2 + 2,5 =       4,3 + 2 + 3,7 =         3,6 + 4 + 2,8 =























      4,7 + 3 + 2,5 =       1,6 + 5 + 5,6 =         3,6 + 6 + 4,7 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.











         2,7 +  5,3 + 8 =       2,5 + 7,3 + 5 =         2,6 + 1,3 + 9 =























        2,7 +  2,4 + 5 =       6,3 + 3,2 + 7 =         2,6 + 2,4 + 8 =























      3,7 +  4,3 + 5 =       1,6 + 2,5 + 6 =         3,6 + 6,2 + 7 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.














  52,7 +  7,6 + 8 =        5 2,6 + 3,3 + 5 =     3 3,5 + 3 + 1,25 =























 26,7 +  3 + 13,6 =       14,3 + 22 + 25,7 =       32,6 + 24 + 23,7 =























  4,7 + 43,6 + 45 =       3,5 + 52,3 + 26 =       5,6 + 42,4 + 47 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.














12,7 +  3,6 + 4,8 =        2 2,6 + 7,3 + 1,5 =     2 3,7 + 5,3 + 1,5 =























  6,7 +  12,3 + 3,5 =       4,3 + 22,4 + 5,7 =       3,6 + 1,24 + 3,7 =























  4,7 + 23,5 + 4,5 =       3,6 + 52,3 + 7,6 =       3,6 + 62,4 + 4,7 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.











7 + 17,6 + 0,468 =         5 2,6 + 3 + 0,235 =          33,5 + 1,425 + 5 =























76,7 + 233 + 3,62 =       14,3 + 3,22 + 5732 =    32,6 + 24 + 2,257 =























47 + 4,36 + 7,145 =       8,5 + 523 + 3,326 =     8,652 + 34,24 + 247 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.











  52,7 + 7,6 + 0,08 =     5 2,6 + 3,3 + 0,05 =   3 3,5 + 5,3 + 1,25 =























46,7 + 2,33 + 3,62 =       14,3 + 3,22 + 5,732 =    32,6 + 2,4 + 2,57 =























4,7 + 4,36 + 2,145 =       3,5 + 52,3 + 0,326 =     8,6 + 4,24 + 2,147 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.








7 + 7,649 + 93,49 =    35,6 + 9,36 + 6235 =   3,5 + 23367 + 7,45 =

















8748,7 + 48,233 + 953,68 =            9864,93 + 7,7864 + 573,58 =    




















3276 + 24,58 + 72,257 =                   765,47 + 6,369 + 86547,9 =     




















8,54 + 7523,9 + 7387,826 =            59,652 + 634,247 + 78247,9 =
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Ficheiro de Operações


Adições com decimais


























Copia para o teu caderno. Resolve as operações.








2,7 + 7,64 + 3,459 =      35,6 + 4,36 + 6,235 =      3,5 + 23,367 + 3,43 =




















76,37 + 8,233 + 453,6 =                           64,93 + 7,932 + 573,5 =    




















327,6 + 24,58 + 9872,257 =                     65,47 + 4,369 + 6547,5 =     




















8,546 + 523,9 + 7387,26 =                        8,652 + 7634,24 + 247,9 =
































Ficheiro de Operações


Somas








































































































































































































